
@Solv ing  App l ica t ions  Homework

1 . 5 o l v e  e a c h  l r i a n g l e  a n d  r o u n d  a n s w e r s  t o  t h e  n e a r e s t  h u r r d r e d t h :

( a )  l n  A A B C ,  < A =  9 0  ,  < B = 5 5 . 1  a n d  b =  4 . 8  n t

( b )  l n  A D E F ,  < E , -  9 0  ,  d = | E . 2  c t l  a n d  f =  1 4 . 9  n t
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3 .  F i n d  t h e  l e n g t l r  o f  s i d e  x  t o  t h e  n e a r e s t  t e n t h :
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4 .  D c t e r r r i n e  a l l  6  t r i g o n o m e t r i c  r a t r o s  i f  c o s  0  =  7 1 9

5.  l l re  a r rg le  o f  e leva t ion  c l f  a  favour i te  t ree  a t  V ic to r ia  Park  in  Sydr rey  is  66  when a  d is tance o f  14  rn  rs  n rarked

o f f  f r o r n  t h e  b a s r :  o f  t h e  t r e e .  C a l c u l a t e  t h e  h e i s h t  o f  t l r e  t r e e .

6 .  F r o n r  a  t r a f f r c  h e l i c o p t e r ,  6 2 0  m  r n  t h e  a i r ,  a n  a c c r d e n t  i s  l o c a t e d  a t  a n  a n g l e  o f  d e p r e s s i o n  o f  2 B  .  H o w  f a r

a l o n g  t h e  h i g h w a y  i s  t l r e  a c c i d e n t ?

7 .  F rom a  ho t  a i r  ba l l oon ,  t he  ang le  o {  dep ress ion  o f  a  towr r  i s  7 '  .  l f  t he  obse rva t i on  dec l<  o f  t he  ba l l oon  i s  250

m h igh ,  how fa r  away ,  ho r i zo r r ta l l y ,  r s  t he  town?

ANSWER9

1.  (a )  <C=34 .9 ,  a -5 .85 ,c=3 .35  (b )  <D=50 .69 ,  <F=39 .31 ,  e=23 .52  2 .  f t )  4935  (b )  1 .2 .44 '  f t )  a  . 66 '

3  ( a )  x=7 .33  m  (b )  27 .39  cn r  ( c )  1 .3 .46  n r  ( d )3 .68  cm

t )  i r ' )

f)= - .  COt t l= -
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4.  s in  0= f  .  t .n  g= f t  . r .  0= # sec 5 .  31 .4  m 6 .  1 1 6 6  m 7 .  2036  m


